
Grupo: 4LD
Motor: 4LD 820   Tabla: E

BANCADA/TAPA BANCADA/PIES

POS. REFERENCIADESCRIPCION Cant.

  1 6646.091 TAPA DISTRIBUCION 1
  2 4431.004 junta  0,40 1
  3 6850.024 espárrago 2
  4 6850.040 espárrago 2
  5 1610.009 cojinete l.distr.  std. 1
  5 1610.010 cojinete l.distr. -1,00 1
  5 1610.058 cojinete l.distr. -0,50 1
  5 1611.225 cojinete l.distr. -0,25 1
  6 6800.059 espárrago    M 10 X 30 (39) 1
  7 6800.018 espárrago    M 10 X 32 (47) 2
  8 6800.010 espárrago    M 10 X 25 (40) 3
  9 8990.008 tapón 1
 10 3021.029 cojinete 1
 11 8430.055 pasador 4 X 12 1
 12 4670.060 junta cobre d.12 1
 13 4670.058 junta cobre d.8 1
 14 4730.021 junta 1
 15 1770.001 tornillo M 8x1,25x12 1
 16 8965.003 tapón  M 10 1
 17 3901.027 brida aceite 1
 18 9732.064 tornillo  M 8 X 30 2
 19 7565.011 arandela  diam. 10 8
 20 1210.031 retén aceite 1
 21 3240.033 tuerca M 10 6
 22 7565.011 arandela  diam. 10 6
 23 6800.053 espárrago    M 10 X 18 (33) 6
 24 1512.004 BANCADA COMPLETA 1
 25 4580.169 junta  0,40 1
 25 4580.170 junta  0,80 1
 26 6700.012 tapa 1
 27 6780.012 espárrago    M 8 X 25 (37) 2
 28 7555.029 arandela  diam. 8 2
 29 3240.018 tuerca M 8 2
 30 6426.010 pie motor 2
 31 1780.005 tornillo M 10x1,5x28 8

impreso por LOMBARDINI:   01/03/2006  -      1



Motor: 4LD 820  Tabla: E

impreso por LOMBARDINI:   01/03/2006


